HEBNTHRFESRPTEHRERE
AFESEEEBE (=) %%

(82 p45)
(PR — ] )

LABRBHAEERE , oA =1+ —

2LFERERREERMA , IEELAERESRE,

- ~E A L F#cadrb ko 2 Fcs 100l adfobt ehdo < S FgT R S R 2 °
3 7)

S N=24204 2420 4 24 2P0 o N L A F Nk Ha ik § kT
3 7)

BRI ANWLIbEc kat+b+cz & o (¢ 4rlog2=0.3010)

S M9 +16y° —18Xx—64y—71=02 % s L:2x-5y-10=0 > » & &}
- BPREPILAERL BB PIPhLiRiw?

’

4 6B AR ART B ABES LK 42T 16Tk AL AR H

(4 59)
B2BRFELGF A2RE 69 L BR JEPE- BRI XY g
MAzks FrARL - 2o 9 o FERMARKE AROPEFG 50
I - ABCD £ 5 1ehr >3 AL ABEZ Lo fF- Buw Az -
(4 59)

W55 BD ok E 27 F A u] & AB 22 AD F > #1258 4 EF #4815 @ @ A% 2 F5%BD
b K AAEF & ff fd A o

2o~ E- BN 0 (n) &8 BTN e Bl blae(l)=1 (2)=1- (3)=2 -

(4%

~—

wkh o g £ A={neN| (n)=k | » &Y nz i (kaa D)
neA



